Key Stage 2: Arithmetic Paper 1

1 1024 - 100 =
2 68 x 7 =
3 26 +05 =
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4 15x5 =

5 = 4792 + 836

6 378 + 60 =
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7 5x9-=

8 | 6012+07=

q 6x3x6=
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5 1 _
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11 | 70x7 =
12 | 62+ 7=
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13 | 7.56x 100 =

14 | 3980-827 =

15 | 1.3 x 1000 =
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16 |5 *70

17 | 25% of 1400 =

18 | 1210+ 11 =

©twinkl.co.uk. You may photocopy this page. o



19 | 140-682 =

20 | 30000 + 4562 =

21 | 2.15x8 =
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22 | 4572 + 6=

23 | 223-6.42-=

24 | 670381-34917 =
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25 | 3 x5 =
26 | 45x 19 =
45

x| 119
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27 | 85% of 280 =

28 | 9x2
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29 | 5+
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30 | 3598 + 14 =
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32 | 2x(17-6)=

33 | 786 x 56 =
71816
X 516
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34| 2

35 | 2795 + 43 =
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36 | 5+3-
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